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115 SHMFEE PEMERBERRERFIZHIHTE

<EXEE> (4 T, %) (4 T, %)
X 7 SHMIEE |tk S2EE |#Emk = 5l (GBS X yal SHMSEE |#Ertt] SH2EE | #Emk = 5l (GBS
1 ERBERER 1,218,835 13.1 1,351,592| 15.1 A 132,757 A 98 1 BEE 108,296 1.2 47476 0.5 60,820 128.1
2 FARRUFHA 1,600 0.0 1,600 0.0 0 0.0 2 RIgIRGE 7,082,212| 76.3 6,644,919| 745 437,293 6.6
3 EEXZHE 0 0.0 2,986 0.0 A 2,986 iR 3 ERRERRELEMGS 1,990,649| 214 2,133,157 239 A 142,508 A 6.7
4 BEXHE 7,359,930| 793 6,840,531 76.7 519,399 76 4 RIEEEE 68,113 0.7 68,454 0.8 A 341 A 05
5 BAEIRA 2,323 0.0 1,748 0.0 575 32.9 5 EEREISe 2,323 0.0 1,748 0.0 575 32.9
6 BAR 689,007 7.4 709,995 8.0 A 20,988 A 30 6 EXHS 34,060 0.4 26,706 0.3 7,354 275
7 fEHE 1 0.0 1 0.0 0 0.0
8 EEURA 13,957 0.2 14,007 0.2 A 50 A 04
E 9,285,653| 100.0 8,922,460 100.0 363,193 4.1 B 9,285,653 100.0 8,922,460 100.0 363,193 4.1
<EBEZ#E> (E4 - FF. %) (4 FF. %)
X o SHSEE |#ritt] SF2FEE |#t = 35 [GES X 7 SHSEE |#m| SF2EE |#Hk = 5 [GES
1 B2EIRA 136,687 68.6 149,833 69.3 A 13,146 A 88 1 BBEE 110,903| 55.7 115,156] 53.3 A 4,253 A 3.7
2 FRAARUVFHH 617 0.3 558 0.3 59 10.6 2 EXE 72,621 365 83,200| 385 A 10,579 A 127
3 BXHE 4785 2.4 6,405 3.0 A 1,620 A 253 3 MEERERE 10,529 5.3 13,312 6.2 A 2,783 A 209
4 BAEEURA 3 0.0 3 0.0 0 0.0 4 NMEE 4114 2.1 3,542 1.6 572 16.1
5 Hte 3 0.0 3 0.0 0 0.0 5 P& 1,000 0.5 1,000 0.5 0 0.0
6 BAS 46,242 232 47,001 217 A 759 A 16
7 iEEe 1 0.0 1 0.0 0 0.0
8 FIRA 6,129 3.1 6,306 2.9 A 177 A28
9 & 4,700 24 6,100 2.8 A 1,400 A 230
it 199,167 100.0 216,210| 100.0 A 17,043 A 79 B 199,167| 100.0 216,210| 100.0 A 17,043 A9
FE125 THSFE PN EREFHKEXEHNRHTE (Ef: T, 96) (Bt T, %)
X yo SHMSEE |[#rtt] S 2EE |[#5n = 5l [GES X & SHMSEE |#mk]| $H2EE |#5k = 35| GBS
1 EERVEHES 1,218 04 1,218 0.4 0 0.0 1 B E 157,515| 47.7 111,711 36.1 45,804 41.0
2 FRAMRUVFHH 67,006] 20.3 65,558 21.2 1,448 22 2 BEEEYKERE 2,100 0.6 6,874 22 A 4774 A 695
3 EEXHE 5,550 1.7 0 0.0 5,550 s 3 NMEE 165,443| 50.1 185,778 60.1 A 20,335 A 10.9
4 BAEIRA 7 0.0 16 0.0 A9 A 56.3 4 FinE 5,000 15 5,000 1.6 0 0.0
5 A% 203,375| 61.6 242569| 78.4 A 39,194 A 16.2
6 s 1 0.0 1 0.0 0 0.0
7 FEUXA 1 0.0 1 0.0 0.0
8 s 52,900/ 16.0 of 00 52,900 B
H 330,058] 100.0 309,363| 100.0 20,695 6.7 i 330,058] 100.0 309,363 100.0 20,695 6.7




EFE135 THMSFE PEMNERREXRBIZATE

<HREEEHFE> (iftr: T, %) (4t : T, %)
X o SHSEE |[#Ertt] $F2EE |#mt = 5l [GES X & SHSEE |[#mk| SHoEE [#Emk = 5 GBS
1 N ERER 1,561,752|  19.1 1,448,783| 18.3 112,969 7.8 1 BEE 78,295 1.0 83,860 1.1 A 5565 A 6.6
2 FRAARUVFHH 327 0.0 324 0.0 3 0.9 2 RIRHEGE 7,638,887| 93.2 7,356,949 92.8 281,938 38
3 EEXHE 2,097,223 256 2,041561| 258 55,662 2.7 3 g XiEE 474,304 5.8 482,017 6.1 A 7,713 A16
4 TIEERFE 2,136,286 26.1 2,067,482 26.1 68,804 3.3 4 REENEEE 0 0.0 1,452 0.0 A 1,452 B
5 BXHE 1,140,519 13.9 1,104,335| 139 36,184 3.3 5 EEEae 1,908 0.0 1,523 0.0 385 25.3
6 BAEIRA 1,907 0.0 1,522 0.0 385 25.3 6 EXHE 2,004 0.0 2,004 0.0 0 0.0
7 BAR 1,257,679] 153 1,264,292| 159 A 6,613 A 05 7 PlEE 500 0.0 500 0.0 0 0.0
8 iR 1 0.0 1 0.0 0 0.0
9 FEUIRA 204 0.0 5 0.0 199 3,980.0
it 8,195,898] 100.0 7,928,305 100.0 267,593 3.4 B 8,195,898] 100.0 7,928,305 100.0 267,593 3.4
<NEY—ERZEEHTE> (4t : T, %) (4 : T, %)
X 7 SHMIEE |tk S H2EE | #ERkt = 5l =R X 5 SHSEE |ttt SH2EE | #ERk = 5l R
1 BAEEURA 624 0.7 522 0.3 102 19.5 1 B E 3,417 3.9 3,418 2.1 A1 A 00
2 BAS 4,447 5.0 4504 238 A 57 A13 2 ERERE 83,000( 942 155,688| 96.9 A 72,688 A 467
3 fgHsE 1 0.0 1 0.0 0 0.0 3 EEBIE 625 0.7 523 0.3 102 19.5
4 FEIRA 2 0.0 2 0.0 0 0.0 4 NMEE 32 0.0 0 0.0 32 e
5 & 83,000] 94.2 155,600] 96.9 A 72,600 A 46.7 5 FiEE 1,000 1.1 1,000 0.6 0 0.0
it 88,074] 100.0 160,629| 100.0 A 72555 A 452 =t 88,074] 100.0 160,629| 100.0 A 72555 A 452
BE145 HHSHEE hFA/MIEESHKEERANSHTE  owrmo ittt 7. %)
X 7 SHSEE |#itt] SF2EE |#mt = 35l [GES X 7 SHSEE |#m| SfoEE |#mk = 5 [GES
1 FAMRVFHE 1,459 907 1,419] 888 40 28 1 WBE 47 2.9 37 2.3 10 27.0
2 BAE 148 9.2 178 114 A 30 A 16.9 2 NMEE 1511 940 1511| 946 0 0.0
3 #RiMs 1] 01 1] 01 0 0.0 3 PiRE 50 3.1 50| 3.1 0 0.0
it 1,608] 100.0 1,598| 100.0 10 0.6 B 1,608] 100.0 1,598 100.0 10 0.6
BEI5E SMBEE hFH P A(IY T I—SFNEEBARHTE @um % ety T, 90
X yo SHMSEE |[#rtt] S 2EE |[#5n = 5l [GES X & SHMSEE |#mk]| $H2EE |#5k = 35| fR
1 BEIA 927 8.1 1,070 9.2 A 143 A 134 1 BEE 11,484] 100.0 11,691 100.0 A 207 A18
2 FRAMRUVFHH 6,099 53.1 4907 420 1,192 24.3
3 BAEIRA 1 0.0 1 0.0 0 0.0
4 BAE 4289 37.3 5549 475 A 1,260 A 227
5 EEIRA 168 15 164 1.4 4 2.4
H 11,484] 100.0 11,691 100.0 A 207 A 18 B 11,484] 100.0 11,691 100.0 A 207 A18




BE165 THSERE AN BEERAIRTTE (et T 96) (T, %)
X o SHSEE |#Ertt] S 2EE |#mt = 5l [GES X & SHSEE |[#mk| SHoEE [#Emk = 5 GBS
1 BHEhEEREREY 738,938 72.2 723,297 72.2 15,641 2.2 1 B5%E 6,629 0.6 8,195 0.8 A 1,566 A 191
2 FRBERUFHE 142 0.0 142 0.0 0 0.0 ‘Y EHEERLE
3 BAS 283,363 277 277,062| 27.7 6,301 23 2 EEMftE 1015:326| 9.2 991.818)  99.0 23,508 24
4 fEEE 1 0.0 1 0.0 0 0.0 3 EXHE 1,241 0.1 1,198 0.1 43 3.6
5 EEIRA 1,252 0.1 1,209 0.1 43 3.6 4 Tigg 500 0.0 500 0.0 0 0.0
it 1,023,696] 100.0 1,001,711 100.0 21,985 2.2 it 1,023,696 100.0 1,001,711] 100.0 21,985 2.2
HE17E SIMIERE hFHr— IRV —VBEBRSHFE  ww @0 (i T, %)
X 7 SHMIEE |t S2EE | #Emk = 5l (GBS X yal SHSEE |#Ertt] SH2EE | #Emk = 5l (GBS
1 HEERVEES 4024 2.0 3,520 1.0 504 143 1 BEE 199,524| 995 337,426 99.7 A 137,902 A 409
2 FARRUOFHA 171,158| 85.3 166,367| 49.2 4,791 29 2 NMEE 35 0.0 32 0.0 3 9.4
3 BAEIA 431 0.2 411 0.1 20 49 3 FiEE 1,000 0.5 1,000 0.3 0 0.0
4 BEAE 22891 114 16,506 49 6,385 38.7
5 FEURA 2,055 1.0 2,054 0.6 1 0.0
6 Thig ol 00 149,600 442 A 149,600 R
it 200,559] 100.0 338,458 100.0 A 137,899 A 407 B 200,559 100.0 338,458| 100.0 A 137,899 A 407
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